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QUESTION 1

What is a difference between XML and HTML? 

A. XML is used to format many types of documents and structures; HTML formats the display of content in a web-
browser. 

B. HTML is used to format many types of documents and structures; XML formats the display of content in a web-
browser. 

C. HTML can be used to format the display of content in a web-browser, XML cannot. 

D. XML can be used to format the display of content in a web-browser, HTML cannot. 

Correct Answer: A 

 

QUESTION 2

How can moving to Cloud Computing reduce capital expenses? 

A. One can reduce the number of applications in use within the enterprise. 

B. One can reduce the number of IT staff in the datacenter. 

C. One needs less client computers to access the enterprise applications in the Cloud. 

D. One pays for the use of hardware, not for the value of the hardware at the time of purchase. 

Correct Answer: D 

 

QUESTION 3

What is the main tool for users accessing the Cloud? 

A. remote desktop 

B. the firewall 

C. the web-browser 

D. the web-server 

Correct Answer: C 

 

QUESTION 4

Why is text messaging in automobiles outlawed in many countries? 

A. for financial reasons 
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B. for safety reasons 

C. for security reasons 

D. for synchronization reasons 

Correct Answer: B 

 

QUESTION 5

What is the international standard for IT Service Management processes? 

A. ISO 9001 

B. ISO 14001 

C. ISO/IEC 20000 

D. ISO/IEC 27001 

Correct Answer: C 

 

QUESTION 6

What is not an operational benefit of Cloud Computing? 

A. Instant server deployment 

B. Less IT staff 

C. Managed services 

D. Possibility of back-ups as a service 

Correct Answer: B 

 

QUESTION 7

What is meant by Virtualization? 

A. Virtualization means that data does not exist anywhere. 

B. Virtualization is a method to combine more computing power onto one server. 

C. Virtualization is a method to combine multiple computer environments onto one server. 

D. Virtualization means that no real computer system is needed to distribute cloud solutions. 

Correct Answer: C 
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QUESTION 8

What is the function of the Web Tier? 

A. load balanced databases 

B. multiple backend application servers 

C. responding to client requests 

D. supporting the client requests 

Correct Answer: C 

 

QUESTION 9

What is the Pay as You Go Model? 

A. a discount for customers changing their network provider 

B. a discount for mobile connections based on the distance to the datacenter 

C. to pay for a service after ending the contract 

D. to pay for services based on their use 

Correct Answer: D 

 

QUESTION 10

How can moving to Cloud computing increase user satisfaction? 

A. by accomplishing quick and efficient release of applications 

B. by increasing the access to information available on the Internet 

C. by moving internal systems with performance problems to the Cloud 

D. by passing problems with applications to the Cloud provider 

Correct Answer: A 

 

QUESTION 11

What is an example of the implementation of federation? 

A. driver\\'s license 

B. fingerprint 

C. information card 
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D. iris scan 

Correct Answer: C 

 

QUESTION 12

What might be considered an advantage for someone storing valuables in a bank in comparison to someone storing
data in the Cloud? 

A. The bank customer knows where the bank is located and which locker is used to store valuables. 

B. The bank uses physical measures to protect your valuables. 

C. The bank has better protection against fires and floods. 

D. The bank has better opening hours. 

Correct Answer: A 

 

QUESTION 13

What is a specific feature of Network Attached Storage (NAS)? 

A. NAS presents data to the user as if it is stored on a file server 

B. NAS uses the file system of the client computers. 

C. The NAS operating system does not provide security features. 

D. With NAS the file system is managed by the servers storing the data. 

Correct Answer: A 

 

QUESTION 14

What describes a serious drawback in the early development of networks? 

A. Computers were dedicated to one function. 

B. Computers were too complicated to be connected. 

C. There was low network speed. 

D. Vendors developed their own network communication protocols. 

Correct Answer: D 

 

QUESTION 15
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What is considered the first example of shared managed services? 

A. Mainframe 

B. Applications offered by ASP\\'s (application service providers) 

C. Arpanet 

D. Virtual Private Network (VPN) 

Correct Answer: B 
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